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M.A. (Previous) Economics Examination

Economic Theory - |
Paper - MAEC-01

Time : 3 Hours ] [ Max. Marks :- 80
Note: The question paper is divided into three sections A, B and
C. Write answers as per the given instructions.
ffder: Jg ¥eT-uF ‘o7, ‘¥ 3R ‘A’ AW sl # fviford g1 v
Gus & MGATTAR oAl & IR S|
Section - A 8§x2=16
Very Short Answer Questions
Note: Answer all questions. Answer of each question should be
given in 30 words. Each question carries 2 marks.
ug - ‘3’
(rfer o7 IR 9e)
fFder: oft meAl & IR IR IAF U FHT IR 30 &g H

SINTTI Tl U9 1 37l & 2l

1) Give answer of the following questions.

feferRad U9t & IR SR

(i)

What is Monopsony?

Shdl UhIfRIBPRT T ¢ ?
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(i) What do you know about Marginal Cost Pricing?
AT T o FeiRer & I 39 F T ST § P
(iii) Define Discriminating Monopolist.
fIHGHRY TRt Bl gRHTiid HIfvT|
(iv) What do you understand by perfect competition.
guf GfeRNfiar | g @ FHed 2 2
(v) What is opportunity cost.
3R AT T g ?
(vi) What is Reaction Curve?
gfcrfehar asp Fam g2
(vii) Define Law of Diminishing Returns.

Ufihel & ged | & Ry HifdTu)

(viii) Contract rent.

3BT oM.

Section - B 4x8=32
Short Answer Questions
Note: Answer any four questions. Answer of each question

should be given in 200 words. Each question carries 8
marks.
(Tvs - 9)
(oTg IR 99)
fAder: ol aR UeAl & I T TAD 9T BT IR 200 2Tea)
g Y1 T U9 8 (3M1S) 3Dl @ gl

2) Explain the consumer behaviour under uncertainty.

JfIITAT & AL IUHIAT b FAgR Pl FUSE DIy |
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Write the objectives of the firm in shortrun.
B H e & Igdl B forRau|
Show the relationship between AFC, AVC and AC by diagram.
XGTfe 6 TERIAT A AFC, AVC 3iR AC § IFs=¢ & faaTgul
Explain the conditions of Price Discrimination.
Hmd fvgiaRer b aal 6 e S|
Discuss Cournot Model.
Pl Aled hI fGaemT SR
Write the main features of monopolistic competition.
UHTRIPRICHS URITIAT B TiRg IeIeaTy Sarsyl
What do you know about liquidity trap?
TRAT ST & IR | 3T T T g ?

“Profit is a reward for uncertainty bearing”. Discuss.

ST, JRITAT a8 e T Ufdhet g1’ fad=aeT HifT

Section-C 2%X16=32
Long Answer Questions

Note: Answer any two questions. Answer of each question

should be given in 500 words. Each question carries 16
marks.

(Tvs - W)
(e IR o)

fAader : gl <1 goi & IR SINITI U U9 bl IR 500 STec| H

uf=ffra ST gde U 16 (elg) 3t @1 Bl

10) Explain the conditions of Pareto Optimality with diagram.

el gugq P aal Y e YT Afed HivTgl
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11) What is the law of variable proportion? Explain.
uRacHefiel sruTal &1 M @ g ?
12) Discuss in detail the longrun analysis of costs.
Sefepret AN fA9eur 6t fRga U § @ren Hifg|
13) How to determine price and quantity in monopoly?

THTIIPR ht RRURT § HHd wd qm= o1 fefkor S gar g2
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